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V Semester 3 Year LL.BJ/IX Sem. 5 Year B.A., LL.B./B.B.A,, LL.B.
Examination, December 2017
Opt. — IV : INTERPRETATION OF STATUTES AND PRINCIPLES OF
LEGISLATION

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Question No.9 andany five of the remaining.
2. Question No.9 carries 20 marks and remaining questions
carry 16 marks each.
. Answers must be written either in English or Kannada
completely.

“Interpretation of statute means finding out the intention of the
legislature”. Explain. Marks :

“BoRINe earﬁdrxoébi NODT TVRTONG TR md@s’d:&l
oodnPde SATTE”. DTORD.

Discuss the rule of literal construction.
eiida’s ogF soSod aoxa:bai:g 233F 0.

Explain the principles regarding retrospective operation of
statutes.

ZRING RBROF &FT 008N FowopAT S AT DTORD.

Explain the principles of interpretation of statutes affecting
jurisdiction of courts.

TOIPOCING  TODFTVHODI) WHRT ZRING AT I3
3, rid), DTORO.

“Penal statutes should be construed strictly and benefit of doubt
should go to the subject”. Elucidate. Marks :

“BorEdeod mmng ﬁug}w%ﬁ tﬂtsrjq’ﬁe& ) KB em_:iddg\
s8R0 TozoN Zoecs*a’%dg'. NBDEBORO.
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“Power to repeal is consistent with power to enact. Repeal may
be express or implied”. Explain. Marks : 16

“BRING Cddo 0%T s QORI wWIREORTZT. TORINY
QOISR [T LT SFFN JOWBT"'. DWORD.
Discuss the principles of utility. Marks : 16

mafomgéo:b %ﬁ#&l 235237 R0.

Write short notes on any two : Marks : 2x8=16
cIRJHTTTR DTS, T LTS B0,
a) Preamble.

2608,

b) Parliamentary history.

RoRDeod) ST,

c) Mens rea in statutory offences.

aak’ducﬁa OTGNYY " ToQE S[RY'.

Solve any two of the following problems. Marks : 2x10=20
NS O TOTCR DT &: RN TOTT BWRD.

a) Industrial Disputes Act provides that a party cannot be

represented by a legal practitioner before labour court, tribunal
or national tribunal where as Advocates Act confers right to
practice on every advocate before any authority. How to
resolve the clash ? Decide with the help of suitable rule of
interpretation.
%mm QDTNG L2AODRTY) WSeLON FoFT0 DlevipiSlevel
opleviplallol) Tody 0D T, 0ARQBTLNTSD, ﬁgmddaig{ TSRO
B, ORI, L8 Feewd LHICHROTA DO Tdeedd
AnRFSe LOTO/T),0IREETE/ T,0IROODRY 00z BITO00)
T,3QPROT BYI)  BROOTIRT. aa'drﬁo.bQ Zen
BODORIIT ? RRE ODIT FZODBRoAN AFFORD.
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b) Surajwas held liable to be punished for contravening S.7 of
Prevention of Food Adulteration Act, 1954 eventhough he
had no guilty mind as he did not know that the food article
was adulterated. He challenges his conviction. Decide with
the help of appropriate rule of interpretation.

RATKSII), Fen308 &m0 3B Tok), A7, 19540 08 &=
LoD RRReRTS BrDSOTER Tonn LSRR &T0 8ot
Db RRICOEEH 8RB %ﬁozﬁo o8 LT ARONZE.
e mWeIRecdE DEFOR FHRH!S. BOORE QoTB
BHocO00E PFOND.

¢) Employer has to pay maternity benefit by way of wages for
the actual period of a woman’s absence for six weeks under
Maternity Benefits Act while calculating wages he excludes
Sundays. Meena questions it and claims that she should get
wages for Sundays also. Advice her with the help of suitable
rule.
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